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1. 77 wer-w, when-giem ¥ w9 8 31 @t wheiEt w1 qeare aed g o g

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. a.um.emR. e W Rewal # egEs el 3o, o, S W e /T feeae it o T Al W e
FO ¥ Riu Faer srw T U (Frarn 71 Fir) w1 IR Hi)

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers. =

3. ﬁﬁ%%ﬁ,mﬁwﬁﬁﬁwmﬁm@maﬁ.m.m.aﬁwﬂzﬁm'mlvﬂm%aiﬁﬁaﬁm.m.
sﬁzﬁw%mﬁmﬁsmmzﬂﬁqaﬁnﬁaﬁ.w.m.mmﬁﬂwaﬁﬁwﬁmaﬂ?saﬁawﬁgﬁ
a1 o )

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. ma@ﬁﬁua%%qﬁwaﬁt/maﬁtﬁmws’r,ﬁa%magmﬁm(a),(b),(c)aﬂt(d)ﬁqm@l
3T e U € GEl el

Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.

T SIETN & foT0 3@ Tehete 1 Sifaw g8 s/

DM-01 Please see the last page of this booklet for rest of the instructions






o HUMAN SPACE FLIGHT CENTRE SET
3‘4% DRAUGHTSMAN (B) - MECHANICAL A

1. T & e 1 faafea - w1 8141 91eg?

The advised position of placement of the dimensions should be
(a) TP 3iaX / Inside the view

(b) TEITE / Outside the view

() T HIWHISH T / On the boundaries of the view

(d) TS HEd U / Cutting the view

2. U gHeU By ¥, afe Buf 3R ue ured &1 g HES: 5 F R 4 Hifl, ], o St ured F1 A fha
gm?

In a right angled triangle, if hypotenuse & one side measures 5 cm & 4 cm respectively then
the remaining side measures

(a) 3 cm (b) 4cm (c) bHcm (d) 6cm

8. udipd Pysia wr i ¥ R e v e () & 9 31 S ———— g o e () Ranman g

For a unified triangular external thread, the distance between the crest and root (d) is
, when pitch (p) is given.

(a) d=0.75p ) d=056p
() d=061p d d=064p

4. gy frrhemy, 5 Ml TR SR 10 frAl % fag enef o ¥ fiig enepfa Y @Y S famfie fsan e 82

How is a spot face hole with 24 mm diameter, 5 mm deep and spot face diameter 10 mm
dimensioned?

(@ ®24and ¢10

(b) 5 SPOTFACE, ¢24x ¢10

()  ¢24 SPOT FACE, ¢ 10

(d  ¢10SPOT FACE, ¢ 24 x 5 DEEP

DM-01 3 March 2020
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/“ Fa DRAUGHTSMAN (B) - MECHANICAL A

5. wg U o9 1SS & B e & 120 R G S €, 15 e ¥ SR A fra 3 ST §?

When a double — threaded screw is made to turn 120 degrees about its axis, how much does

the screw advance through the axis?

(a) R F =®r 13/ 13 of pitch of helix

b e OE® 13/ 18 of pitch of screw

(c) e & g &1 14 / 14 of pitch of helix

(d) ed g & g & 2t & / The advancement is equal to pitch of helix.

8. ﬁlﬂ@ﬂ%ﬂﬂ@%mﬁaﬁ'tﬁ’ﬂ'&%ﬁaaﬂﬁﬁ% @, fde @t 3 dfdadi & i BT 3R
— I FH TR B IR

In zigzag lap joint formation when P is the pitch between the rivets, the distance between

the rows of rivets should not be less than

(a) 0.6P (b) 0.8P ¢ P d 1.2P

7. e wguty e Rl 3 e (Tad= A e, g, = SR T 87)
The 3 quadrant is in which position? (HP = Horizontal Plane; VP = Vertical Plane)

(@ wad %A%, Ah H G / Below HP, behind VP
G TERFIR ADRE 4% / Above HP, behind VP
© TERFIR ARG g / Above HP, in-front of VP

@ wEhFAAE, & %I / Below HP, in-front of VP

8. U e P IoE B 5% P8 W Ed g 87
The center of gravity of a triangle is on .
(a) H%® [ centroid ) ufef =% / circum center
(¢ $H /Incenter (d) dad= /ortho center

DM-01 4 March 2020
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- HUMAN SPACE FLIGHT CENTRE SET
-
9

afe Y@ U o B, 5 B Urewa febdl fT & faig el iR el &, < I & SR o X WS Pl 7 FEl Sl

2 /If a line intersects a circle at two points, not passing through the center, the line segment
inside the circle is called

(a) @@/ Radial line
.(b)  Sftar/ Chord

(¢)  3madi/ Sequent
() gy / Quadrant

10.  U% g 1 Sige Yl <l She g e
Area moment of inertia of circle is
(a) wd'/e4 b)) xd?/32 (© ~=d®/16 d =d*/16

11 oo o1 Ta o 5 Bl grar g, o), 9/ER &1 STl S 41 &
What is the outer diameter of washer when the nominal diameter of bolt is 5 mm?

(a) 13 mm (b) 15mm (¢ 10mm (d) 12mm

12. I BRIR IS, $90 T IR b Jad siiee ESICIR
Bolt which consists of only a cylindrical shank threaded at both ends is called
(a) T 3feq eufva dice / Headless tapered bolt
(b) u-di AT By %P / Tap-bolt or cap screw
€ WS- TS / Stud-bolt or Stud
(d) BRHCWP-8SS dlee / Countersunk-headed bolt

13, o ApedRy, o AR, RE, weaes, 3@ o1fe M iy ga IR & Weifid gid 82
The commands Erase, Copy, Mirror, Trim, Extend, Break etc in 2D CAD belongs to which

tool bar?
(a) TWTASTR /Layer tool bar (b) wIsd ¢d §R / Style tool bar
(c) TAIfe®Is ¢d R / Modify tool bar (d) $SIgadaR /Draw tool bar

DM-01 5 March 2020
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14, w3 &1 udie 187
The symbol for seam welding is
@ AN
15. dRUgHEA———— 8
A Ogee curveisa
(@ o g / semi ellipse
(b) I«d Td fadd ¥ o1y FRER f§ 9% / continuous double curve with convex and concave
()  Had T ddA S &1 FETR X@rel Bl Sl 2 / freehand curve which connects two parallel
lines
(@ 3fuRa@d / semi hyperbola
16.  TAMG Ty &1 iafe B — S g e
The interior angle of regular hexagon is ————— degree.
(a) 72 (b) 108 (0 120 (d) 150
17.  ©HGH das <R AR SIaTE BT ———— S 'l §
The isometric length is percent of actual length.
(a) 615 () 715 () 815 (d) 91.5
18.

e yome &, 594 oyl x 841 fah 3] % Yiie BT Heha T Bl 87
In metric system, the designation of sheet of size 594 mm x 841 mm is

@) A0 ®) Al © A2 @ A3

DM-01 6 March 2020
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19, gfy v ot & ured B 20% TR ST, Y, TP &G fbaal 5 TR

If the side of a square is increased by 20 %, then its area is increased by
@ 22% b) 32% () 40% d 44%

20. o urTar & wden B @ miRiEar 0.85 2, o, S UrsHTen & uien e 813 31 ks fba gt

The probability of a test at school tomorrow is 0.85. What is the probability of NOT having
a test tomorrow?

@ 1/0.85 ®) 1/0.15 © 0.5 @ 085

2. Prafufed Re ¥ R g i (IR) @ o e?

The value of Normal reaction (R) for the following figure is

P
/
1
0
o
F=uR | R

(a) W -PSinb (b) W + PSinf
(¢0 P-WSinb (d P+ WSin6

Wel S&g = i Bl UK, T = 3[WYa 5, p = YU BT Ui, O = By
where, W = Weight of block, P = Applied force, [l = Coefficient of friction, 6 = Angle

22. g9 H 59 USR & IS 1 IUGRT fbar & 82

The types of threads used in Screw jacks are

(a) AfCH 4T / Metric thread . (b) A& /Square

(¢ udHiTHR. /ACME (d) U= / Buttress
23.  UbmdI Bl — Uelid gRI Fefud fsan S & ¢

Concentricity is represented by symbol.

@ (O (b) EB

DM-01 7 March 2020
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24. gﬂmwﬁmﬁa@wﬁwaﬁwww%‘?

Maximum deviation in size of shaft or hole is known as

(a)  9El / Tolerance () Hed fd=e / Fundamental deviation
() SRl / Clearance (d) AfdH / Interference

o5, Rl STe a9 & Ui T U F URRIY B 1 Fe1 Sl 87

Resistance of material against any external force is known as

(a) g-mar / Stiffness (b) Smardasd / Malleability

(c) gme / Strength (d) F3Ral / Hardness

96, FET A Y R g uRsHR WAl §2
' Which of the following is a surface finishing operation?

(a) fefed / Drilling (b) QT / Lapping
(c) f& /Milling (d) T / Turning

97 Witz g Bl cuiaTe YdeTeE RE $1-41 82

Symbolic means of indicating Spot face is

\/
© T @ ©

98. %+ 2x—15=0 NS F YA T8 ?

Roots of equation x2 + 2x — 15 = 0 are?
(a) 5! 3 (b) _5’ 3
(c) 5, -3 d -5,-3

29, it one TIdied HdE RIS TES v 1 WA Her Bt 87

For chromic acid anodized surface, typical thickness of oxide layer is

(@ 05to25pn () 510H (© 10-12p @)

DM-01 8
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?5“4% DRAUGHTSMAN (B) - MECHANICAL A
30. QTR A U & B R fopar o 87

31.

32.

33.

34.

35.

DM-01 9 March 2020

How is Young’s modulus of elasticity defined?
P Al Pl m
Ll 2° 2 d il
@) (A} ®) [ l J © Al-A @ (VJ

o (eTedRm) & fRud A Bt &1 womelt S 82

Which of the following are the two systems of placing dimensions?
(i) @ vomE / Aligned system

(i) & wumel / Break System

(i)  Usfe=MT yumedt / Unidirectional System

(iv) fe=mara® yumelt / Directional System

@ @), @Gv) (b) (@), () (c) (@), (iii) d) (@), (i)

oo URRUfaTT & SRU @ verd &1 35 A, a@ deffea e mar € 1 ofe sget uRfte derd 7 L8, @),
gerdl &1 faeaur farar grme

A material elongated by 35 mm due to certain conditions. If it’s initial length is 7 m, what is
the strain of the material?

(a) 0.05 (b) 0.005 (¢) 0.07 (d) 0.007 ‘ ‘

ddqa & Haiy & Frafafed # § SH-91 a9y 96l el 87
Which of the following statements about Ellipse is not true?
(a) a‘]tfqam%ﬁgaﬂ 3l Biod foigsfl ¥ g8 &1 aNT fRR 811§ / The sum of the distances from

two focuses and any point on the ellipse is constant

(b) TR TP THAA S WP F 3e & THIR § IR P S Bredr @ o 98 We/@Ie g a9/ If a

plane which is parallel to the axis of the cone cuts the cone, the section gives ellipse

(¢ d¥gd &1 TR wHfieRu XZ/a2+Y2/b?=1 § / Mathematical equation of ellipse is
X2?/a?+Y?/b2=1

(d) Schadl 1 ¥ FH S/ Eccentricity is less than 1

T XMUe 98 & o

A Basic shaft is one in which

(a) U fA9eH YA Earg / Upper deviation is zero

O REENACESE] A 8T8 / Lower deviation is zero

(c) SR wd e A1 g Rigd] 8T ® / Both upper and lower deviations are zero

(d) G'Cﬂia\_-[ T 4 @15 el / None of the above

5 x 1043 8 x 105 T T[0T H TR IUeTey [UFHE 1 27
What is the product when you multiply the numbers 5 x 104 and 8 x 105?
(a) 4x107 (b) 4x 108 (c) 40 x 108 (d) 40 x 109
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i5TS DRAUGHTSMAN (B) - MECHANICAL A

36. 8x8x5T4x8x 10 MBR P SRl & T BT ST T TI?

Ratio of volume of vessels of size 8 x 8 x 5and 4 x 8§ x 10 is

@ 05 ® 1.0 © L5 @ 20

37 ue f eTdh & BRU, TS IR BT TR FI1 THIT IS 87
Due to torque in a shaft, every cross section is subject to

(a)  SOFUY U / Shear stress (b) @ ufdEa / Tensile stress
() d®TUEd / Bending stress (d) ud ufaser / Contact stress

38. o9 U® ds P IR Bl AABa ‘A’ H W UR SFIVgE a1 o 8, Y, <€ # IRa aivwd ufdee @ g
&7
When a load of ‘W’ is applied to a bar of cross section area ‘A’, the average stress induced in

the bar is given by
(a W*A (b)y W/2A () 2W/A d W/A

39.  gf us yde gaTeR 5w T, R A F gHFIR B, O, TUBT T TS I 1 2 87
If a thin circular disc is parallel to HP and VP, its plan and elevations are

(a) 9NN U S9N G G¥ga 8ld & / Both plan and elevation are ellipses
(b)  Ta=m g BT & SR S=TdiN U Y@ el & / Plan is an ellipse and elevation is a line
(c)  Ta=I U 3@ Bl & 3R S~Idi% U l¥gw ala1 @ / Plan is a line and elevations is an ellipse

(d) 9= Td SN SFI X@E gt & / Both plan and elevation are lines

40. 450 3iyar 300/60° Ay fyaT Gl & WIS & WIY HIH-T1 ST Tg1 FGT o Febell?
Which angle cannot be made with either a 45° or 30°/60° triangle or a combination of both?

(a) 30° (b) 60° () 70° (d) 90°

41. U 7G99 BT Yde AABd 216 F2 § | FUBT TG e grm?

Surface area of a cube is 216 m2. Its volume is given by

(a) 216 m3 (b) 108 m3 () 72m3 (d) 48 m3

DM-01 10 _ March 2020
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DRAUGHTSMAN (B) - MECHANICAL A

42.

43.

44.

45.

46.

47.

g TF @ B siRElied @ Y 450 3R afted ©F ¥ 300 FHET A THHT R H FHE
————Fm

If a line is inclined at 45° to the HP and 30° to the VP, its front view is inclined at

(a) 30°03R 45°F &lF / Between 30° and 45°

(b) 450 3{feF / Greater than 45°

(€ T & ey H 45° / 45° to xy

(d) THHAR. FUSUH 300 /30° to xy

TETHE T AIR B, T FHHTES B oY T &1 87

In Autocad software, abbreviation for Rectangle command is

(a) 3RsEE /RECT () 33XE /RE

() 3IREE. /REC (d 3R& /RT

e 9§ e geot URIG HIF-9T 37

Which of the following is the lightest pencil?

(a) 24 /2B () - & /B (¢) vw=s /HB d uwa /H

U o el @l ward 10 . R Frerg 4 H. € afe a1 50. T TRRE 7@ wRT B Al oM WS BT FA
RERIURGE NI

A water tank 10 m long and 4 m wide contains water to a depth of 1 m 50 cm. The total area
of the wet surface is given by

(a) 82 m? (bh) 122 m?2 (¢ 102m2 (d 42m2

3G T BT A T Rorad @t ared 150 FrA. § iR U@ Biur 450 82

Name the quadrilateral where all sides are 150 mm and one of the angle is 45°
(a)  3MId / Rectangle - (b) TEIGHW / Rhombus

(¢) @ /Square (d) YHaREgyw / Parallelogram

I x b x h 3T & Ueb HTAHR S & ST GaE BT [AH I &=l e BITTI?

The developed area of the outer surface of a rectangular box of dimensions I x b x h is
(a) Ixbxh () l+b+h

) 2(+b+h) (d 2Uxb+Ixh+hxb)

DM-01 11 March 2020
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48. UHEH GG TF U YR W gieice @ A R & | i T8 799 31ef TR TS THA gRT AuIRid &%
fora o) Y 3T uRee &1 quTe SR o1 B

A right circular cone resting on HP on its base is cut by a section plane parallel to HP,

bisecting its axis. The true shape of the section is

(2) @I / Ellipse

(b) 9« / Circle

(¢ Wdcd /Parabola

(d) 3ffd Waa@ / Hyperbola

19, T TR S 5 frd de T TRV WX 5 B G F) R UEH BA § A SHB 4 A E?
(1 g urar = 745 9R)
The efficiency of a motor that receives 5 kW and delivers 5 HP is (1HP = 745 W)
(a) 35% b) 70% (¢) 74.5% (d) 80.5%

50. U@ gHde & fore Freffea § 4 ue R dia el 87

One of the following position is not possible for a plane

() TIH. & daad 3R & ). % IR / Perpendicular to HP and parallel to VP
() @b dead 3R T, ¥ GHAIKR / Perpendicular to VP and parallel to HP
© Tad g d@d i S Tt / Parallel to both HP and VP

(d) E:l'ﬁ q ﬁé 8l / None of the above

5L grerch uiefin @ qo s VT UE uTeh o1 S wa 8, Rt fam Freféa @ e e 82

CAD programs which incorporate parametric modelling, use a system in which the

dimensions control

(a) Tiea® eyl fAgivdd / Perspective features of the model

(b) Hisd & I B & [o1g Tgad QfET / Shading used to render the model
(c) HISH &I AR Td 3THfA / Size and shape of the model

@ Sl / All of the above

DM-01 12 March 2020
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52, ‘sEr'eHIS Ud W HAIS & o 9l AW &7

What is the difference between “Zoom” command and “Scale” command?

(a)

(b)

(©

(d)

‘SETIATT H1 TXEEI B Saedl § s W 9% & AR P §Godl © / Zoom changes the
visibility of the project while Scale changes the size of the object

T3 e 1S e T B afs "W’ SMER B 10 T SGI/GT Webdl & / Zoom has no limits
while Scale can grow/ shrink a shape by up to 10 times

@T’@W%Wm%m'ﬁﬁ' Wﬁ%ﬁﬁq%ﬁm% | Zoom is for the whole plan

while Scale is for a single object

ITdad H B e / None of the above

53.  gfiuw. (viea GG YOICh) &1 MTufEe IERa 1 82
What is the primary purpose of UCS (User Coordinate System)?

(@

(b)

(©

(CY

Taidar &1 ORI UBR & SRl ﬁi’g BT TTT B adl %’ / Allows user to select the desired

type of drawing units
e & faffée 2@%“33&@?13@%33?15}2?11% / Allows user to draw on a

specified 2D plane in 3D space

TG & %] & &=t B TTUFT & A Heg Bal § / Helps user to calculate the area of an
object

waigaT B THiEE vad & foe s Fufftd F39 § A6 S T / Helps user to determine

angles for isometric projections

4. M- FETET U1 UEE B HIETTES STAIHATS! B T HIA H HaE Bl 67

Which design process involves responding to the emotional needs of the consumer?

(a)
(b)
(©
(d)

W%ﬁﬁ’l | Aesthetic Design
UhTiHS f89sT / Functional Design
Tt fEWiEH / Systems Design
%-3UR / e-business

55. g aiifa ds & R, AR vd o5 (3) % o o gt &1 H qutan s @ (d.=fw)?
For a square thread, the distance between the crest and root (d) is given by? (p = pitch)

(a)

DM-01

0.61p ®) 0.64p (© 05p @ 0.86p

13 March 2020




@4@;5

HUMAN SPACE FLIGHT CENTRE

SET

DRAUGHTSMAN (B) - MECHANICAL

56.

57.

58.

59.

60.

15 foy Y. = oiR 15 el TeRs & e oiy v ) 9 Remnfa v o &2

How is a blind drilled hole of 15 mm diameter and 15 mm depth dimensioned?

(a) M15, DEEP 15 by ¢ 15

© ¢ 15x15 () ¢ 15 DEEP 15

T e i T Teh SATIATRT STEH I T T ST HTh H A TR 2

A cylinder can be created by drawing a rectangular shape and using the tool?
(a) dfeded /Extrude (b) U /Sweep

(c)  URBAU / Revolve : (d) 3fipoe / Offset

TRIHATES “C” SR H IR BT HIIH 31 81l 67

The measurement of architectural “C” size paper is?

(@)

36" x 48” (b) 247 x 367 (c) 18" x24”

12”7 x 187

T TaySTa fiew @1 ARet Sede & dead sl § R e T &, S e @ i g S e 7

A pentagonal prism is placed with axis perpendicular to the horizontal plane, the front view
and top view are?

(a) UAYW, BYS / Pentagon, triangle

()  BYe, days / Triangle, pentagon
(c)  UEYd, 3MUd / Pentagon, rectangle
(d) 3mOd, UsEYS / Rectangle, pentagon
e 8 @ o H-u1 R w6l 87

Which of the following is true?

(a) Sin2(30) + cos%(30) = 1

(b) Sin%(45) + cos?(45) =1

(c) Sin2(60) + cos2(60) = 1

(@ Sugaawft / All of the above

DM-01
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SPACE FOR ROUGH WORK
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5, ﬁa@uw%uﬁ%waﬁﬁﬁm@m%ﬁm?ﬁqaﬁm,wqéﬁmvﬁmﬂzwm%mwm

rer | el war & g Uen | STfereR IwR ST et ST WHT S

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.
6. wa gRee 1 gl 3 I F R W gmgmgmg%ﬁaﬁﬁmw%,ﬁﬂaﬁ.@.m.sﬁzm,ﬁmﬁ

@ 9T S O AMEE 2| Va1 T FE W, IR F AR A8 AT S|

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

gﬁmﬁwwaﬁww%maﬁ}w%%tmﬁmmmﬁlWﬁ?ﬂﬂ'@"fﬁﬁwﬁi

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. sty wie T aaER FO @ v, wiemel H sureaR e w gfe wie ferger gl weneff F R am % ww
& TEaT A g

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. qﬁ%mé}aeﬁiﬁﬁ(1)mm%ﬁﬁqﬁm%ﬁaw(2)®ﬁ.m.m.msﬂaﬁﬂwaﬁamm%am
et oft wftfeafe o srvefl 58 9 @ S

At the end of the test (1) Wiritten test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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